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49 17 32
13.25m%/s 7.61m*/s 10 1 3.77m¥/s
4-1 CA=680.9km’ 49 17
m*/s m*/s m*/s m%/s m*/s m*/s m¥/s x 10 m®
S49 696.48 19.72 12.79 9.48 5.02 0.03 18.95 597.47
S50 882.52 25.24 21.11 16.44 6.75 1.58 39.55 | 1,247.33
S51 414.85 42.62 27.10 18.47 8.19 3.78 38.35 | 1,212.87
52 745.52 29.01 17.02 12.57 6.08 2.46 30.08 948.58
53 278.82 19.11 10.39 7.32 6.39 3.66 16.18 510.24
S54 713.99 26.20 20.65 14.07 6.27 3.71 33.32 | 1,050.67
S55 780.61 54.29 30.46 23.34 16.20 11.00 57.48 | 1,817.53
56 216.80 31.57 24.17 17.08 11.13 10.58 29.75 938.22
S57 1,301.00 33.32 24.96 18.01 8.88 1.72 51.54 | 1,625.36
S58 492.93 31.25 19.52 13.86 9.98 9.57 31.17 983.07
S59 663.41 23.28 15.14 11.65 10.09 7.97 28.66 906.41
S60 700.62 28.05 19.16 11.01 5.62 3.18 36.11 | 1,138.69
s61 656.87 23.62 14.58 9.46 3.77 2.81 31.25 985.46
$62 1,044.12 43.10 25.32 17.42 10.35 7.18 48.74 | 1,537.15
S63 894.96 28.54 15.00 10.79 6.88 5.37 34.80 | 1,100.36
H1 553.27 33.62 20.87 13.50 7.54 4.22 32.96 | 1,039.53
H2 971.80 28.24 19.89 11.72 5.78 3.31 30.78 970.67
H3 435.92 40.73 24.79 16.61 11.67 9.65 42.00 | 1,324.51
H4 26.17 16.98 12.00 8.23
H5 923.63 62.74 25.84 16.84 9.74 7.84 73.07 | 2,304.44
H6 100.55 17.76 9.41 5.92 2.96 2.57 13.20 416.42
H7 1,722.76 18.36 12.07 8.42 4.80 3.83 29.72 937.34
H8 668.46 24.24 14.59 10.80 7.63 6.30 34.78 | 1,099.86
H9 1,055.81 29.96 15.48 13.25 8.73 7.72 38.36 | 1,209.61
H10 662.08 35.09 22.86 13.54 1.98 1.98 32.84 | 1,035.69
H11 632.34 26.45 16.09 10.37 6.92 4.83 41.72 | 1,315.70
H12 230.15 27.19 18.55 12.45 6.96 5.28 29.79 939.42
H13 374.81 26.93 18.54 12.61 6.21 3.04 28.06 885.05
H14 256.93 24.17 16.54 12.23 7.22 0.20 23.91 754.07
H15 665.71 38.39 25.53 17.52 10.44 8.46 40.05 | 1,262.93
H16 965.96 31.81 21.98 14.02 8.86 0.94 36.98 | 1,169.36
H17 1,271.10 27.24 17.40 11.37 6.37 4.64 31.44 991.61
230.15 24.17 14.59 10.37 1.98 0.20 23.91 754.07
10 678.34 29.15 18.76 12.82 7.13 4.34 33.79 | 1,066.33
230.15 18.36 12.07 8.42 2.96 0.94 23.91 754.07
20 741.43 30.72 18.62 12.54 7.15 4.75 35.50 | 1,119.96
230.15 19.11 12.07 8.42 3.77 1.72 23.91 754.07
30 703.30 31.10 19.36 13.27 7.73 5.10 35.42 | 1,117.61
708.86 30.56 19.21 13.25 7.61 4.82 35.02 | 1,105.02
@ %5
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